(Adding & Subtracting Polynomials)

Add the given polynomials

1 (6p?-q-4)+(29°+59-5) 2] (4x*+ 2x-5) + (6x*-x-5)

B 3x*+ 1)+ (4 + 2x?) 4 3x3-24+9x+x3)+7

Subtract the given polynomials

5l (4p?-p-3)-(p?+2p-5) 6] 3(c-4)-5(c®+4c-6)

71 2(l-7) - 3(*- 2L + 8) 8 5(q+3)-9(q*-3q+2)



(Adding & Subtracting Polynomials)

Answers

(6p*-q-4)+(29°+59-5)

6p’ + 2p°+4q-9

B3x*+ 1)+ (4 + 2x?)

5(x2+ 1)

5 (4p*-p-3)-(p*+2p-5)

3p?-3p+2

2(l-7)-3(*- 2L + 8)

32+ 8[-38

(4x*+ 2x-5) + (6x?-x-5)

10x?+x-10

3x*-2+(9x+x3)+7

433 +9x+5

6] 3(c-4)-5(c’+4c-6)

-5¢2-17¢c+ 18

5(q+3)-9(g*- 39+ 2)

-99°+ 329-3



